
Les Cameron’s…..
…Big Fat Quiz of the Year.

The information that follows is based on our understanding of current taxation, legislation
and HM Revenue & Customs practice all of which are liable to change without notice.

This is just for UK financial advice professionals. 



This content is based on our understanding of current taxation, legislation and HM 
Revenue & Customs practice all of which are liable to change without notice. The 
impact of any taxation (and any tax reliefs) depends on individual circumstances. 

Where content includes case studies or examples these are for illustration purposes and 
are not recommending a specific course of action.

Past performance is not a reliable indicator of future performance. The value of an 
investment can go down as well as up and your client may get back less than they’ve 

paid in.

No reproduction, copy, transmission or amendment of this presentation may be made 
without our written permission. 



Learning Objectives

By the end of this session, you will be able to: 

Describe the key elements of tax planning in 2024



Finn:

A member of a defined benefit scheme. 
His expected annual allowance usage for this year is £30,000.
He has no carry forward available.
His contribution to the scheme is £10,000
His employers deemed contribution is £20,000
He has relevant earnings of £120,000

How much can Finn pay into a pension and get tax relief?  

Question 1

a) £60,000
b) £110,000
c) £30,000
d) £50,000



Tax Relief v Annual Allowance

Individual / 3rd party Contributions
Tax Years
100% of relevant earnings or £3,600 if higher

Pension Input Amounts
Pension Input Periods
Various limits!

Tax relief

Annual allowance



One before the other

Ability

to 

Contribute £ ? Annual 
Allowance
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Mel has a personal pension worth £800,000. She has full LSA and LSDBA available.

Victoria has a personal pension worth £1,000,000.  She has £100,000 of LSA remaining and 
£200,000 LSDBA

Emma’s personal pension is worth £400,000 but has protected tax free cash of £300,000.  She 
has £200,000 of LSA and has £800,000 of LSDBA remaining.

Who can get the highest tax free cash payment?  

Question 2

a) Mel
b) Victoria
c) Emma
d) Mel and Emma equally



The new approach

Lump 
Sum Income Lump 

Sum Income

6 April 2024

Lifetime Allowance
Lump Sum Allowance

Lump Sum & Death Benefit Allowance

Overseas Transfer Allowance



PCLS from 6 April 2024

Available 
Lump Sum
Allowance 

Available 
Lump Sum & 

Death 
Benefit

Allowance 

Applicable 
Amount

Lower of

…must have at least some LSA and LSDBA available….



And there’s more….

SSPTFC rule change

…must have at least some LSA and LSDBA available….

Amount over LSDBA Taxable



Girls Aloud are better I think

Mel Victoria Emma
Applicable Amount £800,000 x 25%

£200,000
£1,000,000 x 25%

£250,000
SSPTFC

£300,000
LSA available £268,275 £100,000 £200,000
LSDBA available £1,073,100 £200,000 £800,000
Tax Free amount payable £200,000 £100,000 £300,000

25% of fund lower 
than LSA/LSDBA

25% of fund higher than 
allowances

Capped at lower of LSA 
and LSDBA

LSA not relevant
Capped at LSDBA

Consider order of benefits where any scheme can pay > 25% cash
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John, Paul and Ringo all used 66.66% of the LTA. They all took 25% of the amount crystallising 
at that time

The LTA when they used it was:

• John - £1,800,000
• Paul - £1,073,100
• Ringo - £1,000,000

Who would benefit from a TTFAC?

Question 3

a) John 
b) Ringo
c) Paul
d) Noone would benefit



Deduction in respect of LTA used

Individuals Starting Allowances

LSA and LSDBA

LESS

DEFAULT 
TRANSITIONAL 

AMOUNT

TRANSITIONAL
TAX FREE 
AMOUNT

OR



LSA used

DEFAULT 

LTA % Used
X

LTA at 5th April 24
X

25%

TRANSITIONAL

PCLS amount paid
+

Standalone Lump Sum (tax free)

+
UFPLS (Non-Taxable)

+
25% x LTA used by Pre 2006 

Pension



Yes, the Beatles

John Paul Ringo
Default Used 66.66% x £1,073,100 x 25%

£178,832
Transitional Used 66.66% x £1.8m 

x 25%
£299,970

66.66% x £1.0731m 
x 25%

£178,832

66.66% x £1m 
X 25%

£166,650
Higher usage Default Equal Transitional

Ensure your retirement processes have a “TTFAC step”
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Who would benefit from a TTFAC?

Question 3

a) John 
b) Ringo
c) Paul
d) Noone would benefit



Question 4
Roy, Tom and Bob all have state pension and DB pension income of £15,000.

They also withdraw from their SIPPs:

• Roy £10,000 PCLS 
• Tom £10,000 UFPLS
• Bob £10,000 drawdown income payment

Who has the highest income for the purposes of the normal expenditure out of income 
exemption?

a) Roy
b) Tom
c) Bob
d) It’s equal.



Normal Expenditure Out of Income

5 things you need to know

NORMAL TIME SPAN GIFTS CLOSE 
TO DEATH SIZE OUT OF NET 

INCOME

Drawdown Income, PCLS and UFPLS are income
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In respect of IHT which of the following is the odd one out?

Question 5

a) 60%
b) 40%
c) 0%
d) 36%



The £2m threshold

Do not 
deduct 
reliefs 

(e.g. BPR)

40% 60% / 20% 40%

£2m £2.7m

0%

£1m?

Do not 
deduct 

exemptions

e.g. spouse

Do not add 
back 

lifetime 
gifts



A simple study…

Original estate £2,350,000 – RNRB £0, NRB £325,000

IHT of £2,350,000 - £325,000 x 40% – £810,000

£810,000 - £740,000 = £70,000 IHT saving - £350,000 gift = 20% tax relief 

“Deathbed” gift of £350,000 – RNRB reinstated

IHT of £2,350,000 - £500,000 x 40% – £740,000 (£810,00 without gift)

Single client, never married 
House valued at £175k to direct descendant



Client survices 7 years

60% effective rate of relief £210,000/£350,000
 

£ Lifetime gift more 
than 7 years 
before death £

£ Taxed at 40%

Value of estate 2,350,000 (350,000) 2,000,000

Less RNRB (175,000)

1,825,000

Less NRB (325,000)

£1,500,000 £600,000



In respect of IHT which of the following is the odd one out?

Question 5

a) 60%
b) 40%
c) 0%
d) 36%



Sheldon and Leonard both set up trusts to hold their onshore investment bonds.

They both died several years ago.  Their trustees have decided to encash their bonds.

Both bonds have a £20,000 gain and had been running for 10 years.

Sheldon’s trust was an Interest in Possession Trust

Leonard’s trust was a Discretionary Trust.

Which trustees had the highest tax liability?

Question 6

a) There is no tax to pay
b) Sheldon’s (IIP)
c) It’s equal
d) Leonard’s (Disc)



Discretionary Trusts no longer have an £1,000 basic rate band

There are only two trust types for chargeable gain purposes – 
bare and everything else

Interest in Possession Trusts have basic rate liability on income 

Bond gains are treated differently to interest and dividends
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George and Mildred jointly set up a trust that holds an investment bond.

The trust was Discretionary. 

There was an expression of wish that the proceeds be split equally between their niece and 
nephew Terry and June.

Mildred died a few years ago. George passed away last month.

The trustees have surrendered the bond and paid the proceeds equally to Terry and June.

Who is liable for the gain?

Question 7

a) Trustees and George equally
b) George
c) Terry and June equally
d) Trustees



Not bare - Who is liable?

Is settlor alive and UK resident in 
tax year of event?

TRUSTEES
• Trustee rates apply – 45%
• Top slicing relief does not apply

YES

Is the trust UK resident?

NO

BENEFICIARY
• If beneficiary is UK resident they will 

be assessed on the gain.
• Top slicing DOES NOT apply

NO

SETTLOR
• Top slicing relief may apply
• Statutory right of recovery

YES
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Dunning Technical Services Ltd own an onshore investment bond.

The policy started with £100,000 and is in its 6th policy  year.

Due to the boom in technical support required they have just topped up by another £50,000.

There have never been any withdrawals.

Question 8

a) £0
b) £30,000
c) £32,500
d) £60,000

How much tax deferred allowance is available?



Company held bonds

HMRC Insurance Policyholder Taxation Manual:   IPTM3900 

… where a company… is a party to an ‘investment life insurance contract’, this 
is treated as a loan relationship of the company. It is taxed as a creditor 
relationship under the loan relationships rules … rather than under the 
chargeable event gain rules, with any profits or losses arising treated as non-
trading credits or debits of the company.



The $64,000 questions!

ONSHORE v OFFSHORE

OEIC v BOND

COMPANY v PERSONAL
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Question 9
Simon, John and Andy are all higher rate tax payers.

They each realised non property capital gains this year:

• Simon - £9,000 before the budget.
• John - £6,000 before the budget and £3,000 after. 
• Andy - £9,000 after the budget.

They all had full AEA available.

Which of the following statements is true?

a) John has the highest CGT bill
b) Andy has the lowest CGT bill
c) Simon has the lowest CGT bill
d) Simon and John have the same CGT bill



2024/25 TAX YEAR 2025/26 TAX YEAR

CGT rates aligned!
30/10/2024

10%
20%

18%
24%

Beneficially ordering for Annual Exempt Amount and Basic Rate Band usage
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Question 10
Sandi, Cher and Joan have each triggered an £18,000 gain in November rebalancing their 
portfolio. They have had no other gains this year.

• Sandi held the portfolio directly when she triggered the gain  
• Joan held the portfolio in an onshore insurance bond 
• Cher held the portfolio in an offshore insurance bond

They are all higher rate taxpayers.

Which gain triggered the most tax?

a) Sandi
b) Joan
c) Sandi and Joan’s equally
d) Cher



CGT inside or out

Wrapped Unwrapped 
Higher Rate Taxpayer

Unwrapped 
Basic Rate Taxpayer

Gain £18,000 £18,000 £18,000

Annual Exemption N/A £3,000 £3,000

Taxable £18,000 £15,000 £15,000

CGT Rate 20% 24% 18%

Tax £3,600 £3,600 £2,700

£18,000 = 1.8% of £1,000,000
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Roy Tom and Geoff all earn £60,000 a year. They all invest £100,000 in a portfolio.

It generates:
Gains of £1,000 (1%)
Interest of £2,000 (2%)
Dividends of £3,000 (3%)

Roy invests directly
Tom invests through an onshore bond
Geoff invests through an offshore bond

Question 11

a) Geoff (offshore)
b) Tom (onshore)
c) Roy (directly)
d) Roy (directly) and Tom (onshore) equally inefficient

Who is rolling up least tax efficiently?



Roll up tax
Direct Onshore Offshore

Gain  £1,000

Tax £0
(£1,000 - £3,000 @ 20%)

£200
(£1,000 @ 20%)

£0

Dividend  £3,000

Tax £843 
(£3,000 - £500 @ 33.75%) 

£0 £0

Interest  £2,000

Tax £600
(£2,000 - £500 @ 40%) 

£400
(£2,000 @ 20%)

£0

Overall  £6,000

Tax £1,443 £600 £0

Roll up rate 24.05% 10% 0%



Onshore Internal Tax Rate (by dividend component)
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HIGHER RATE ON ENCASHMENT BASIC RATE ON ENCASHMENT



The trade off

Lower tax on gains

Lower tax on income

OEIC UK
BOND

Where we are post budget
CGT 

Advantage Income Tax 
Advantage



Some numbers

Overseas UK
£    

1,073,100.00 
£    

1,073,100.00 

Overseas Transfer Charge 0% 0%

£1,073,100 £1,073,100

PCLS £268,275 £268,275
Balance £804,825 £804,825
Tax 40% £321,930 £321,930

£751,170 £751,170
Net £1,502,340

Pre 30/10/24

Overseas UK
£    

1,073,100.00 
£    

1,073,100.00 

25% 0%

£804,825 £1,073,100

£201,206 £268,275
£603,619 £804,825
£241,448 £321,930
£563,378 £751,170

£1,314,548

Now

UK
£    

2,146,200.00 

0%

£2,146,200

£268,275
£1,877,925
£751,170

£1,395,030

Now

NOTHING 
URGENT

BAU IN 
MANY 
AREAS

IHT MOST 
URGENT / 
NEED OF 
ACTION



Learning Objectives

By the end of this session, you will be able to: 

Describe the key elements of tax planning in 2024



QUESTION
TIME



Thanks for your time
Get in touch with your usual contact if you need further help.



M&G Wealth is a trademarked brand of the M&G plc group, which includes 3 business divisions as follows:
M&G Wealth Advice, provided by M&G Wealth Advice Limited, registered number: 08022795. Model Portfolio Services, provided by M&G Wealth Investments LLP, 
registered number: 0C305442. M&G Wealth Platform, provided by Investment Funds Direct Limited, registered number: 11444019. Each legal entity is registered in 

England and Wales and has its registered address at 10 Fenchurch Avenue, London EC3M 5AG. Each legal entity is also a subsidiary of M&G plc and is authorised and 
regulated by the Financial Conduct Authority.

M&G plc, incorporated and registered in England and Wales. Registered office: 10 Fenchurch Avenue, London EC3M 5AG. Registered number: 11444019. M&G plc is a 
holding company, some of whose subsidiaries are authorised and regulated, as applicable, by the Prudential Regulation Authority and the Financial Conduct 

Authority.
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